Тест  по теме «Арксинус, решение уравнений вида   sin x= a »       29.04.2020 г.
	Вычислить
1)  [image: image58.wmf]N

х

Î

+

×

-

=

+

k

pk

p

k

,

2

4

)

1

(

1


2)  [image: image2.png]3
aresin=—-— arcsin(~1) + arcsin|




3)  [image: image3.png]3
aresin=—-— arcsin(~1) + arcsin|




4)  [image: image4.png]b 1
ansm(ﬂ ~arcsin + arcsin 0




5)  [image: image5.png]b 1
ansm(ﬂ ~arcsin + arcsin 0




6) [image: image6.png]arcsin(— E)
5) —aresin(=1)




	Ответы:
а) [image: image8.png]oy



                      б) нет ответа     

в) [image: image10.png]-y



                      г) [image: image12.png]


         

 д)  0                         е) [image: image14.png]



ж ) [image: image17.png]


1                         з)     

и) [image: image18.png]


                          к) [image: image19.png]





	Решите уравнения:
[image: image1.png]b 1
ansm(ﬂ ~arcsin + arcsin 0



7) sinx=1 

8)  

[image: image47.wmf]2

1

sin

=

х


9)
	[image: image48.wmf]N

х

Î

+

×

-

=

k

pk

p

k

,

6

)

1

(


а)  x=πk,k∈Z                               б)
[image: image49.wmf]0

2

sin

2

=

+

х


в)  x=[image: image21.png]EE]



+2πk,k∈Z                        г) 
[image: image50.wmf]N

х

Î

+

×

-

=

k

pk

p

k

,

2

6

)

1

(

[image: image51.wmf]N

х

Î

+

×

-

=

k

pk

p

k

,

4

)

1

(


д)                                                е)
ж)   нет ответа



	10) [image: image22.png]sin 2x





11) [image: image23.png]



12) [image: image24.png]



13) [image: image25.png]



14) [image: image26.png]




	а) х = (-1)n+1 [image: image28.png]21



 +2Пn,  n € Z                  б) х = [image: image30.png]


 +Пn,  n € Z
в) х = (-1)n [image: image32.png]o



+ [image: image34.png]


 +Пn,    n € Z        
г) х = (-1)n [image: image36.png]S|



+ [image: image38.png]


 ,  n € Z
д) х = (-1)n [image: image40.png]


 - [image: image42.png]


 +3Пn,   n € Z            
е) нет ответа                              ж) х = [image: image44.png]


,   n € Z
з) х = - [image: image46.png]


 +Пn,  n € Z                  и) х = (-1)n+1 П +4Пn,  n € Z


� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���








[image: image52.wmf]N

х

Î

+

×

-

=

+

k

pk

p

k

,

2

4

)

1

(

1

[image: image53.wmf]2

1

sin

=

х

[image: image54.wmf]N

х

Î

+

×

-

=

k

pk

p

k

,

2

6

)

1

(

[image: image55.wmf]N

х

Î

+

×

-

=

k

pk

p

k

,

6

)

1

(

[image: image56.wmf]0

2

sin

2

=

+

х

[image: image57.wmf]N

х

Î

+

×

-

=

k

pk

p

k

,

4

)

1

(

_1649650682.unknown

_1649650911.unknown

_1649651066.unknown

_1649650734.unknown

_1649650530.unknown

_1649650647.unknown

